Math 2200-0I (Caleulug [} Spring 2020

Book 3



dec A5 - % vzakion Apnl 18
P.285 #19. of lm(%w?fﬁaycm base and a vl B Sach pme laa e wv(/_m/

Qustace aren™

/e \V = 7(7'[\=% = L\;—f—(;_

- 2
l k  eren A = o+ 4xl = 9o & 47«%2 Zx-z{—;%'- , X0

-
—

v oy Vi
The deovain is (o/ o) ,  om WuLmboq g]-,u\ -ll:&)\daQ-
%:‘(‘7{—-% r i(-x$, %) T&y C«'\'F”—‘-Q Pmn:t._ < d‘k X=2 .
X'L

(K\ICJQ: ericad ?oiu:("p ae whoe Yo don vt i
2ex0 er wwdefing Tlow are mo?aivcﬁ o e

n dA . ; ,
for v< X< 2, ;‘%)«( <p Se Alx)s mjolz:":' mosauw, Te i MJ-P_‘FIMJ, hﬂaf 6w’ [>°|r7€
for =] %(-‘:o. H=6'> Al

F’{X721 .5%70 S0 A(Xv.'?'muea/{mj. 51 ;

So‘lﬁl iy s Wfﬁﬂa Areg A(ﬂ: |‘2.w\1 pCes9 ‘PU"' & LU\( Zg@ Sue Zw\)( tmx 2ma

A

s g




S 44. 2. 21 H20  Pi= (%= &) (x4 B = (=3¢ (r+ G = X+ b Yox =210
£ = 3P+ 12536 = 3(x+ du-|D) =5 (v+6) (=2
2= X v 12 = blatn)

oI 4
Y N 4= £6)
F o o444+
«f ———— O 4 Ff 4+ 2+t t
Fra)= (-3)@)=-hg ,
liw- %( z oo
#(2) = (. AR = -256 X~ i
u'v\ g'(’ﬁ = =00
X9~

(2,-256)

[l
1 hao am seblogtion peet (2-b8)
a ,(!:C:g A Pp\";E (2,'25777,

g dol a cal most iy bpied (_4,’ 0),
Mgﬁ—v\icm»{ W;"m( &’,3’ . wo  aleselall ¢ctrensa I;D a,ejmlﬂ-om.

{6 werasiy on (0, %Y oud o (20),
ﬂlcnga.@(ué on (.(,,2_3'



bc 45 T.Zﬂ"’“}l' L r be ¥ adino £ o Senicinndur windsw fm
R —— iz Pu;m‘hb. is Pz Mre2rs2h =26

- —_ T+
r ('n’+’23r +2L-2—0 k-/o——;r
2_’,\ = 20 — 1ir- v
l\ 41. A window consists of rectangular pane of glass surmounted by
a semicircular pane of glass (sec figure). If the perimeter of the &A
2 window is 20 feet, deterinine the dimensions of the window that I— = 20 - (’ﬂ"" 4>v
r maximize the area of the window. r

T crhicd] poinf f at r= 22 .

T+4
1
2 i hens 0<"<%4; dh5o oo 3
T ot 2r (IO— ———':) ikU'eouvil«a.
= 20+ + (8 - ('rr+z)>r'" 20 5 p 4A
(L N - rieq g <° %°

A is (ﬂof‘eavi*-av

o e Mayimmn Anga ofcaS

] ] A ;(QO—TL':;F)T' V%N\f: —'?—:'Zf Mb'l‘&di'/{j qku A7fo
o) 20 40 eGsured r +h be in [o,%l‘wew,(p%

ey T chid A of endpouts and 4 m{ic.ﬁfwf'



™
‘l. l ‘T L\ < ID LTL?- = O - w s——~2:o
A

]/ lo - IO (T +2D = TF-F‘]

T+4

Dol | 49 _ lo(red) - [D(TF2)
T+ 4 Il T+ 4
%

—_——

Sc4b. Lineanzabon o4 WO/:&J—.,& et

/\\72 A ww M;/ /

linear approvineatison ,AIPHI 5"




for « deseh o, )2 L) = L) G-+ 6y = [Jx+[]
;Mf/ lindadsa i 4'(‘3 Jt/—C(a)-AQ’fa)
]Q?I] bu-a + o‘é «? At {%‘F(ﬂ\)
fxwm\a@g: Use Hx liearzabion o (x o (5,5—) o aﬂﬂﬁ?wwia J26 .

s | % ‘J=‘/; )= Ix , Fos) =5

4’()():2‘_‘[‘,;_’ 4?23):2‘—'@'—:. -(_

lo

o T lingaritabion £ Jy ot (2s,5) is

2y % L) €6 (x5) + £bs)
= (125 s 5.

B xxss too Ix 2 Llxm)+S

E%. 206 & Le2+5 = 51 et 4o 3 sionLicad dio
Check . [z ~ So099 019514 ‘7 %M J/d%

Crnder opprotuction © J2G ¥ S



J:H £ we waeve %&m(‘l‘;‘:‘\-ﬂ:
{x,—ﬂx\) S (A , Ul a

Lomcbirn ) =(x $ L‘gr
R ejxao{‘ Mw+

Ag = 5?(7(3 T f(‘25_3~

T secant hoe from (255) Ly (x,4cc)
On Ho Mot linz, e skpe Ay 2060 - sy
Dx ~ X— 75
ALK L& -Les AN Z(g:
Ay . A =25 - (QS) - %A[

Uil o e lart inlie B8 a o fivisible ppbel. Now we an SoBTprlivg
e and jg as o&ﬁmazs%:'-axml - ey f@;&a%%ﬁﬁflw

(ot lke A ad 8y are wn’ﬂ;fm.&‘ug_ chomges o The a carve of £

b and dy o Lirtiad.

we'll M‘@ﬁ?‘fe‘f Vo 2~ 51 i 7"549 Wi lmgfv‘aje X



z’g {Q, Aa_.‘b’ 0(3_—:0./.
%% W =~ 5.

,«N{S 1% Q uc& a'wl '
Z el @%,dawm for ditforgAials. o will L-ew—;«g Aoxotids

Kf&x\&, Bl % ety
X —ru—=y % 1 % P %::M)‘ TPy
. sv Aa',:’/Jj'—‘- costr«y




